466 Notes for Smartboard p77-104

Math 466

Factoring by@mpleting the squargj‘
Stencil #1-8 on completing the square

—>not in workbook but in the program, as well as
in sec SSN

ax? + byt ePdalx +d)? —e=dalx+ f)(x + g9)
0 DO | DO

S L )
L”’/J Endl

va
Case 1:lax? + bx + ¢ where a =1
N

Procedure:

1) Write the first two terms in a bracket and
the constant further away

2) Calculate (g)2 and add that term in the

bracket. Remember to immediately subtract
the same term outside the bracket so that the
total is 0.

3) Factor by Perfect Square Trinomial with
the terms inside the bracket. Combine the
constants outside the bracket.
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4) Factor by Difference of Squares.
Example: Factor x? + 6x — 16

(o 6219 ) 1 -

o RFST T e
) (%&5} a5
Ci pOS |

9 (%%5~5><%¥5+$
(X=n) (x +8)

HCaseZ:ax2+bx+cﬁerea¢ 1

Procedure:

1) Factor out the leading coefficient a using
[square brackets]. This may produce fractions,
but the important thing is to get a leading
coefficient of 1 inside the brackets.

2) Write the first two terms in (round

N2
brackets). Add and subtract (E) .

3) Write the terms inside the round brackets a
a perfect square trinomial in factored form.
Combine the last two terms.

4) Factor using difference of squares.
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Example: Factor 2x% + 12x — 14
v 6 - ‘7]/«/\\“,% \W
af(r@%w‘? D % 9]

1.5 Rational Expressgns pg.25-27

Def: An expression in the form PO where P(x)

Q(x)’
and Q(x) are polynomials, and Q(x)#0, is a

rational expression.
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For what values is the denominator zero?

Resteach
5x2+60x ) 3x+4 % 7

b T, By, ) )

%3 % 0 Ax¥0 X +10%0

X§3 > @ 3NN
b 5

%% 0 §
XA

A rational expression is undefined for the values
where its denominator is equal to 0. When
simplifying rational expressions, you must specify
the restrictions.

. Rermeraker it ol Your e .

Zero Product Principle: (/1'\/0\
Ifa- b = 0 then LAHHUr A=0  Av

b=0
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Examples: Determine the restrictions.

s Ox% Ao +lo % O
1) @C.z+24x+1a (3))( +'—})(3X ’rl}): O
\mvﬂo@ G 4=2
% 20 dwls
@rei%:fu»e ?):Zj\’ h Qr«/ ¥

U Rechvichion 15 X sgfe

Reminder:; You can not cancel terms; you can only cancel
factors.
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8xy+9y
‘ 81 |
Qﬂ;’ q y 2y q) = O
CRE w))cgm)\
(& _
cj'5 o ooy
AL A
(anﬂor .
w@{\
\Simplifying Rational Expressions
% = /g&x%izx 5——‘2€Factor top and factor bottom -
&cancel
Examples: Slmp if and ate restrictions.
12x2—4% - -1) = The fadors
5x2+15x ) how ang
x+3?
factors L/K7Xé(\’\/ mno\owg?ﬂ D).
are s ar\o\ X g (o)
and (X +3) - )
| ST @esmdﬂm
Roshickoqy” Tk she o0 )
de,nOWu(\N()Ff@W\ +he o \) 0
6>< (X ’r?’
0rfgul problem- N
5 H) X5 =0
¥0 XA D
Rastrichons
ove 0)-
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D SRS Sweldy
(¥ 10)p0rT)
WQS (M(X -2)
XH 5 -14=0 X ¥ ID
(7‘1‘7)(7‘“?;\)‘:0 X
DICT IR SC L
NEUET ¢ ¥ 2

x%+8x+16 . .

astridhionS (x 4] (a8 oy
o -lo=0 (v -9t x4
@«4)(xi4):o
><~\£L| X+ 4
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(x+2)%-16
x%2-36

(2 —q)(m@ﬂ)
) Cx'«(,)(“c +b)
- (% -a)(%+6)
(%76) (X7

4)

Rest-
X, £ b ’”£

3x24+7x+2
9x2—-1

] (oxta?)(x + 2)
@o(—l)(b“"/‘) @

v Yy W
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Aok - |
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Multiplication of Rational Expressions

p25#1-2

More required

1 24 2 15
3222, 2,55 |

q a( 537 zan Aab

3
%o

—

Reminder: You can cancel downwards and sideways
Multiply on the same line.

Simplify and state restrictions LEEE I B

ANY EXCLUDED VALUES. TO

DO THIS, SET THE

x2+4x+4 X+5 DENOMINATORS EQUAL TO 0
> > AND SOLVE FOR X.
2xc—x—1 O xX“+2x

(d/%/jf, RS
( &7&’5>M K(x)  RastelC
— x+5S %t ¥2 2,0

7&(&7&—5)

Note: Final Answers are left in factored form.

2 L ix Y Sec nexT FoR

yZ=2y  y2+10y+16

Miss Nassif 9



466 Notes for Smartboard p77-104

Math 466

c2-10c+25 c—10
10¢—100 45-9¢

@) (Corsy
\O(C/’/@&f a(5-¢)
WS

- ~ e
= &5 % Q,\()\K

ety
Roegr: C#10, 9

3.

9135412 9r249r
X
9r24+45r 9r3—54r2

((/m /q/(rJr\)
Ge(rxs) /GI/JCVGT

= r +1
5

RSt #0,-5,6
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Division of Rational Expressions pg26 #3-4
9 24
16 18 Reminder; Rewrite
.9 % division as multiplication
’\g ’ 5% by the reciprocal.
-33 333
0.222 33
- 2%
oV

Simplify and state restrictions (always)
5x 3x

D =+ e ﬁg&%ﬁidﬁ Because 3x
) n becomes the
o D NS enominator in the
NS L reciprocal of :Txg,
N we must find the
= % values of x that
would make that
%31_ X F \ 0 factor equal to 0.
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16x—-56 N 8x—28
-4 Determine the excluded
8( 9 J_/{ ) w values that make the
' 2)/{ denominators & the
B )‘K ‘/ﬂ numerator of the divisor
equal to 0.

= |

Rost:
X #F/2
c?+3x— 40 ¢ c?+2c-48 %

) c2+2¢-35  c2+3c-18 (O %?“'

(s )8y AC-3)(crb)
Ca + 7

(NHTY (ks

(C-2)(c+p)

Qo "
(C43)(c-6) WP e
Fove
QSr: c45,-1,5,-4,6,°8
12

Miss Nassif



466 Notes for Smartboard p77-104

Math 466

x?+2x-15  x2+x—12
x2—4x—-45  x?-5x—36

ODFS) - (5-9)(319)

(75’/57(7&/% (W)(z/})
=1

Rogh - w=-5,9,u >

3)
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